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Please check that this question paper contains 32 printed pages (Including
Map).

Please check that this question paper contains 37 questions.
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before attempting it.
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i)
(iii)

(iv)

(v)

(vi)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into SIX sections — Section A, B, C, D, E and F.

Section A — Question number 1 to 20 are Multiple Choice type questions.

Each question carries 1 mark.

Section B - Question number 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

Section C — Question number 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

Section D — Question number 30 to 33 are Long Answer type questions.
Each question carries § marks. Answer to these questions should not

exceed 120 words.

(vii) Section E — Question number 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question number 37 is Map Skill based question with two

(ix)

parts — 37(a) from History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5§ marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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QGUg -

(gferepedta we ) (20 x 1 = 20)

1. Taffgd § 8§ SR gome @’ (BMI) & Jodiehd 8 Hafod Tal fashed i =
HIfT | 1

(A) Tad =TT T 3ThoH

(B) T b & T 3TTehetd

(C) I S BT T ATeheH

(D) 379 TI9UT BT SATehetd

2. dvdteRtr o FEfciRad Tge3tl i 3ok foawr & @1y fiesy 3R T8t fasheq 1 ==

AT | 1
il Lt
CIEEERESY (feraraom)
L et 3=fa a. oo, gedt 3T wusT &1
HATGH-5qH
IL  =AmTieh e b. 3 Q¥ H HRRA AT
1. diEhfas EH-SgH c.  3cUTGH, g1 Ud HER § TEER
IV. Sgugi sufar d. SR R Ifaey g
forepen
I II 111 v
A a b ¢ d
B) ¢ d a b
© d ¢ b a
®) b a d c
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SECTION - A

(Multiple Choice Questions) (20 x 1 =20)

1. Choose the correct option regarding ‘Body Mass Index’ (BMI) from the
following. 1

(A) Assessment of Blood Pressure
(B) Assessment of Blood Sugar Level
(C) Assessment of Body Composition

(D) Assessment of under Nutrition

2.. Match the following aspects of globalization with their descriptions and

choose the correct option. 1
List-1 List-11
(Global Aspect) (Description)
I. Technological Interaction of ideas,
Advancement values and traditions

II.  Liberalization of Trade Companies operating in
many countries

III. Cultural Exchange Innovation in
manufacturing,
communication and
information

IV. Multinational The removal of

Corporations restriction on trade
Options:
I II III v

(A) a b C

(B)

(©) c a

D) a c
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3. Tfcfed 4 & M- seh gRI & ST aTel! 0T TTTaITerlt sl STIfHeh 3eed @ ?
(A) 1 forfia T o T iaeaet e
(B) <had TTUfHeh &k bl oITY TG
(C) EUEH HUMHT ! 3™ FGHT
(D) 3iieh TorehTd <1 THT ST

(C) 3TerTiSa &= (D) e STeh

e : FrafaRaa w7 wae et wWanli & e T aen 4 FRm W E |
fmfafea 3 & wH-a1 3em gnfed & @ defa 3 2

(&) T B (B) g

(C) peare fersha (D) FERIEW

5. fafefaa o & -1 e e gafera 2 2

(SreieTaTET T &%) (3qTET)
(A) e & — et
(B) focfre &= ~  HgIAW
(C)  Tciteh &eeh ~ e I
D) wufies &h — B
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3.  Which of the following is the primary purpose of loan activities offered by
banks ? 1
(A) To compete with other financial institutions
(B) To generate profits for the primary sector only
(C) To increase income of MNCs

(D) To support economic growth

4. Look at the given image. The work done in the image comes under which

one of the following sectors ? 1

(A) Organized sector (B) Primary sector
(C) Unorganized sector (D) Public sector
Note: The following question is for the Visually Impaired

Candidates in lieu of question no. 4.

Which one of the following enterprises belongs to the organized sector ? 1
(A) Independent Freelancers (B) Multinational Corporations
(C) Street Vendors (D) Cottage Industries
5.  Which one of the following pairs is correctly matched ? 1
(Sector of the Economy) (Example)
(A) Primary Sector - Tailor
(B) Secondary Sector - Fisherman
(C) Tertiary Sector - Astronaut
(D) Primary Sector — Courier
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6. TH T foh T Aigee! H IR URER 2 | 31 IR UG 61 Teh THTE hl 3 SHA:
% 2,000, % 5,000, T 3,000 3R T 6,000 & d AIgeet hl THIEH JEd 3T Bft —
(A) 4,000
(B) 5,000
(C) 2,000

(D) 1,000

7. Tk wum o qfd o fote @& forere o1 ==m ShifT |
&A1 Y 37 3TY 3ATUH Y o AN H HIFK SEEIT ST 3TI 8 |

A) 10 B) 7
C) 5 D) 8

8. freAfetiaa wrati & & -t wtlr wferem Y smaet s o aftferd & 2
(A) g (B) TSEAHL
(C) Tigaedt (D) Sfean

9. frafciRea # @ -1 SAlehax o1 gond g & ?

(A) Th SAfRE T ATEH

(B) ST HHEET T IITEH
(C) T o T AN bl IEA

(D) =T Ig@l T I
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6. Assume there are four families in a locality. If the incomes of these four

families in a week are ¥ 2,000, ¥ 5,000, ¥ 3,000 and % 6,000, then the

weekly average income of the locality will be — 1
(A) 4,000
(B) 5,000
(C) T 2,000
(D) 1,000

7. Choose the correct option to fill the blank.

Literacy Rate measures the proportion of literate population in the

years and above age group. 1
A) 10 B) 7
© 5 D) 8

8.  Which one of the following languages is included in Eighth Schedule in

Indian Constitution ? 1
(A) Hariyanavi (B) Rajasthani
(C) Garhwali (D) Odia

9.  Which one of the following is a fundamental principle of democracy ? 1

(A) Rule of single individual
(B) Rule with hereditary norms
(C) Rule of people with freedom

(D) Rule of military chiefs
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10. Tr=feiRed # & fore o 6 “Teh-gelta Sewer’ 7 2
(A)  EIH T ST
(B) Fres febrew
(C) 9wrd
(D) ==

11. Sfcsm i a1 i arRieit o G99 § F=faRed wuEi @1 afeu 3k g€t fashed w1 w=m
HIT |
I 58cd o aue gfaffe ameft s1em TR # |
II. i SRR H S 3R -t dhri sl 90H & 2 |
I11. rgeTRreh TR T TATE Teh &l HTHT Siet dTel oIl &hid & |
IV. SgEE -l o qgd Sfesad H %3 eH 3I31¢ T |
fohen
(A) I, II3RIV

B) I, 13RIV
(C) II, ITI 3R IV
(D) I, 113 III

12. T=fefaa el 4 @ s - gafaa 2 2
(I Efarem ® o <61 g=i) (faw)

A) =9 = H o L
(B) T = w1 fow —  fwem
(C) wHad F=h =i fowa — g T
(D) =Rt == forr —  foame
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10. Which one of the following countries has ‘one-party system’ ?

(A)
(B)
(©)
D)

United States of America
United Kingdom
India

China

11. Read the following statements about power sharing arrangement in

Belgium and choose the correct option.

I.  Brussels has a separate govt. with equal representation.

II. Dutch & French speaking ministers are equal in Central Govt.
III. Community Govt. is elected by People belonging to one language.
IV. Series of majoritarian measures adopted in Belgium.

Options:

(A) I, Il and IV

(B) L IIIandIV

(C) 1L III and IV

(D) I,II and IIIT

12. Which one of the following pairs is correctly matched ?

(Subject List in the Indian (Subject)
Constitution)
(A) Union List Subjects - Communication
(B) State List Subjects - Education
(C) Concurrent List Subjects — Adoption
(D) Residuary Subjects - Marriages

32/2/3/21/BBCA2 Page 11 of 32

P.T.O.



13. Tafefaa el w1 ufe 3R feu e fosmedl § @ wRdia dfag™ § 3feaiad F2t g &1
T HITT |

o VR TSH A forelt off o 1 Usehia g9 o &9 1 SRR T3] fha 7 |
o XA H foREt it uw 1 4T S TR TER St i 3G 7 |
forepea

(A) TS
(B) WqeI-HI
(C) wETETS
(D) wufRue

14. &Y-1 1 e a9-11 9 hifsre 31wt feeheq <1 === hifs

w1 -l
(%E) (1R)
L ﬁﬁ a. W IAN
IL. b. W wEA
. =™ c. LCIE RN
IV. @& d. @ 3R SR wEA
ﬁw .
I II III v
A) d a ¢ b
(B) ¢ d b a
(©) ¢ a b d
(D) d b a ¢
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13. Read the following statements and choose the correct term mentioned in

the Indian Constitution from the given options. 1
o There is no official religion for the Indian State.
o There is freedom to profess, practise and propagate any religion
in India.
Options:
(A) Republic
(B) Sovereign
(C) Socialist
(D) Secular
14. Match Column-I with Column-II and choose the correct option : 1
Column-I Column-II
(Crop) (Type)
L Wheat a. Millet Crop
II. Ragi b.  Beverage Crop
III. Tea c. Food Crop
IV. Maize d. Food & Fodder Crop
Options:
I II I1I v
(A) d a C b
(B) c d b a
(©) c a b d
(D) d b a ¢
32/2/3/21/BBCA2 Page 13 of 32 P.T.O.




15. w1 ! ffefaa foemarsti s afeu 3R feu e foshedi § & 7e1 il 9ga™ i |

o g fokga ®u H et 55 SR el e 2 |

o SHOHCHTEH AL |

o 3T W, foce 3 it ww I # |

Torehed

A) e gar (B) refl ger
(C) IS Hel (D) STl He1

16. Tk wom i gfd o foTe Tt foshed w1 oo i |

Irenfeas @i ; JHYh
W'T@ﬁ\_rr: ............
(A) TR T (B) digwTse
(C) TS (D) &fem

17. Trafofaa o & wF-a1 siet a8t gaferd § ?

Tt -
(TEH) (TTH)
(A) e Fol TR e
(B) geu <k Tr=h whferard
(©) Tmg=l e TR
(D) Tt & Bl IR oS HqATA
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15. Read the following characteristics of a soil and identify the soil from the

given options. 1

o It is widely spread and important soil.

o Northern plains are made of it.

o It consists of sand, silt and clay.

Options:
(A) Yellow soil (B) Black soil
(C) Laterite soil (D) Alluvial soil
16. Choose the correct option to fill the blank. 1
Non Metallic Mineral : Mica

Energy Mineral: | ...

(A) Natural Gas (B) Bauxite
(C) Manganese (D) Platinum
17. Which one of the following pairs is correctly matched ? 1
List-1 List-1I
(Author) (Book)
(A) dJyotiba Phule Amar Jiban
(B) Sudarshan Chakra Sachhi Kavitayen
(C) Rash Sundari Debi Gulamgiri
(D) Kashi Baba Chotte aur Bade Sawal
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18. fmferfiga gemai = wrengshins € A wafeyd Fife 3R ot erea wr e dife | 1
I.  FEgEE gt
I1. 2%l 1 @ %I R JeH &l
IT1. STesh |ey
V. uiferss i i dfgan
fohed

(A) IV, 11, 1& III
(B) IIL I, 1TV &I
(C) IV, 1,1 & III
(D) 1,1V, I & II

19. = < %o feg e g | ¥ 3R (A) 3SR (R) & | Q1 Al i 9iey 371 Gl
ferehed T =9 IS | 1
IPHLT (A) :  Foie IR Thicere & dfia TR A% A=A (1707)’ § T3S ToheH 311

e foreA’ o TTeA g3 |

SR (R) : $018 ThICeis T 19T Tcd STHHT gl T |

e

(A) (A) 3 (R) M1 HE1E 3 (R), (A) bl Fel TG HTd1 2 |
(B) (A) 3 (R) gFI T& &, T (R), (A) h T&! AT T LT ¢ |
(C) (A) wEl g, g (R) T 2 |

(D) (A) T 8, 7eg (R) ¥ % |

20. SHA eI AEH Meshie’ F=faftad 9 forg fommem @ gefeq o ¢ 1
(A) FHSEE (B) SqraTct
(C) ®HHI (D) wEATE
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18. Arrange the following events in chronological order and choose the correct

19.

20.

option. 1
I.  Treaty of Constantinople

II. Hamburg granted autonomy to Hungary

III. Balkan Conflict

IV. Napoleonic Civil Code

Options:

A IV, ILI&III

B) LI IV&I

(C) IV, L1II &III

D) LIV, I &II

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1

Assertion (A) : ‘The Act of Union 1707 between England and Scotland
resulted in the formation of ‘United Kingdom of Great Britain’.

Reason (R) : England wanted to impose its influence on Scotland.

Options:

(A) Both (A) and (R) are true and (R) is the correct explaination of (A).

(B) Both (A) and (R) are true but (R) is not the correct explaination of (A).

(C) (A) 1s true but (R) is false.

(D) (A) is false but (R) is true.

The German philosopher ‘Johann Gottfried’ belonged to which one of the

following schools of thought ? 1
(A) Socialist (B) Liberalist
(C) Romanticist (D) Marxist
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g -§ (4 x 2=28)

(3far -3 w9 )
21. VhiE T Shifdl oh gEX JU T O IS Tt TS <l T8 HITT | 2
22. Tl wmfoes wggl & s v o= wren 6 S} 2 wE i | 2

23. U U form wohR Mfes T 37 w=riaror aufidr <6 st |qet STH oL Tehdl 8 2 g

Gl b <okt T HINT | 2
24. (a) Wi HaTg TR aTfUTST HN H TR T HINT | 2
AYAT
(b) T IR Gl I g H T T HIT | p)
Qug -1 (5 x 3=15)
(T3 I9)

25. (a) 3NYHS HTA T UgA & JT A e Anl’ form JepR SMaTih Tueht 1 U Sfed

3T AT ? TIT HITT | 3
JAYAT
(b) I T | IEA o I H W 41 e TR G Q=1 o off T HIEhideh HTGH-
T 981 9 ? T8 SHIfT | 3
26. ST TG § T SIc1 HH ST ST Hehdl & 7 1S dIF dlieh g1y | 3
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21.

22.

23.

24.

25.

26.
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SECTION - B (4x2=8)

(Very Short Answer Type Questions)

Explain the impact of French Revolution on other European countries.

Why is power shared among different social groups ? Explain.

How can a nation achieve a balance between economic growth and

environment sustainability ? Explain by giving any two arguments.

(a) Daifferentiate between Primitive Subsistence and Commercial Farming.
OR

(b) Differentiate between Rabi and Kharif cropping seasons.

SECTION - C (5 x 3 = 15)

(Short Answer Type Questions)

(a) How was the ‘Silk Route’ an example of vibrant pre-modern trade ?

Explain.
OR

(b) How did food promote long-distance cultural contacts in the

pre-modern world ? Explain.

How can fresh water be saved from the industrial pollution ? Suggest any

three ways.




27

28.

29.

30.

31.

32.

.1 T TSI § eI & ohl Th HewqUl YHehT & |7 ¢fHeh Sfia o 3STal < a1
39 YA 1 B HIT |

TArhad H TSHITeh ol gRT TS ST aTe! fohegl ot TeeTia eh ST hifvg |

wredt & | U 6 gfg & foTe e = s s T 3 7 v hif |

T Ug - (4 x 5=20)
(&rd sl v%7)
(a) ‘“TOcag &1 Mefar] fomm, T & wite 3R 3= & foeg Tod Wast st g 17
3TN Afgd 36 U 6l SRS I |
YT

(b) S~ed! adt o e T vra § fafy= Tyer, &= A1 YTt & deg Ten- 3T
TIE! = AT IUH 1 WTd byl ToehfEa foha ? IgTavll dfgd SITed it |

(a) “YRd T ER H 1 WiTsT ISTact & |7 ISTE0N Hlgd T il |
YT
(b) EH WIS GETEAT o TRV 1 STAYThHdT T 2 ? IS Al T IS |

(a) N bl TTIRAT 3T IATATE] SATehasl o1 STYUR & |’ 3H HYU hl STEAT I |
JAYaT
(b) CAhd ShT T TE qeali & B " 38 UM T AT HIfTT |
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27. “Tertiary sector has a pivotal role in the economy of the country.” Support

your answer with day-to-day examples. 3

28. Explain any three responsibilities carried out by the political parties in a

democracy. 3

29. What efforts are being made by the government to increase employment

in the urban areas ? Explain. 3

SECTION - D (4 x 5=20)
(Long Answer Type Questions)

30. (a) “The Gandhian idea of Satyagraha, emphasized the power of truth
and struggle against injustice.” Explain the statement with
examples. 5

OR
(b) How did people belonging to different communities, regions and
language groups develop a sense of collective belonging in the late —

nineteenth century India ? Explain with examples. 5

31. (a) “Solar energy has a bright future in India.” Explain the statement

with examples. 5
OR

(b)) Why do we need to conserve mineral resources ? Explain with

examples. 5

32. (a) ‘Dignity and freedom of peoples are the basis of democracy.” Explain

the statement. 5
OR

(b) ‘Democracy is related with deep values.” Explain the statement. 5
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33. (a) “drENfiehl § dis 3T a8 G ek © e Svefienor i ufshar i 3aifa fam |
30 YT I ISR Higd SRS HIfT |
YAl
(b) “ferceft smar qe feresft frere ifet, Igriertor 3 Jvefiertor = Tge] & |7 39 HUA
=l IETEUI Higd SATEAT <HITST |

e - (3x4=12)
(ST-NUTE T)
34. TafaRad a =1 ufew 3t 3ues = feu e g9t & 3w fafeu
S QRIS
FRISTEA T H &9 (TR Teh Tawaqul SiTett St & | 1973 H tfespiie 3 ur fo g
T 204 FTaTed % TR H STe Y T JHIHT TN 55,000 | T U 1,827 & T8
2 | ST <l AR 3T SR o foTu 37aer fRTehr ohtetT, STTameie Teti =i fape, WieH &
T sTawaeh SATE IUSTIGR sh @A A BH1 IR SHEEAl H gig STel ohl Hedl §&
& HRUT S | STE Shl Wt 31 SR, 3T 3Teh! gt o1 U <ol § wowrrd ifern §
SRINT < SHRYT g S T B 3h1 TR T Ige 718 7 | <ffoh WA IR 0T g <hl g1-faars
el <hl STTETE IUCTEH HLATT &, 37: I ¢ & IR, T 3T - SR T STl o
g R E |
T e forver Y Seade o= Sie TREieHIST # & U g 3T 3Heh 33T 1973
3 5% | STEl HIRTV 6T Ueh Heha T TSIl ol ST Sh1 SRITE el &, 31U SeehT 3¢9 w1gd &ie
IR o ST ! i STFHT 2 | ITEUE H hitee T ITH, Ufvam sTet § et Tg
UM, AT Y1 U F1EaTg TP I, TR H GREhT o S ‘T{[%l%ﬂ‘ (sanctuary),
3H § OWE o9 {6 (reserve) 3 e # R w9 {9 (reserve) YR H &
TV IR & FS IETET & |

(34.1) =T URAISHT <1 ST TRV 6 foTC Ueh Tgwaqut shey @i |1 I 2
(34.2) o ST HTETE H WA + 1 YfHeht FwS 2
(34.3) = Sffa ARt o foru foh=al Q1 @ @i ol Seoi@ HifT |
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33. (a) “Rapid improvement in technology has been one major factor that
has stimulated the globalisation process.” Explain the statement
with examples. 5
OR
(b) “Foreign trade and foreign investment policies are the aspects of
liberalisation and globalisation.” Explain the statement with

examples. 5
SECTION - E Bx4=12)
(Case Based Questions)
34. Read the following source and answer the questions that follow : 4
Project Tiger

Tiger is one of the key wildlife species in the faunal web. In 1973, the
authorities realized that the tiger population had dwindled to 1,827 from an
estimated 55,000 at the turn of the 20th century. The major threats to tiger
population are numerous, such as poaching for trade, shrinking habitat,
depletion of prey base species, growing human population, etc. The trade of
tiger skins and the use of their bones in traditional medicines, especially in
the Asian countries left the tiger population on the verge of extinction. Since
India and Nepal provide habitat to about two-thirds of the surviving tiger
population in the world, these two nations become prime targets for
poaching and illegal trading.
“Project Tiger”, one of the well publicised wildlife campaigns in the world,
was launched in 1973. Tiger conservation has been viewed not only as an
effort to save an endangered species but with equal importance as a means
of preserving biotypes of sizeable magnitude. Corbett National Park in
Uttarakhand, Sunderbans National Park in West Bengal, Bandhavgarh
National Park in Madhya Pradesh, Sariska Wildlife Sanctuary in
Rajasthan, Manas Tiger Reserve in Assam and Periyar Tiger Reserve in
Kerala are some examples of the tiger reserves in India.
(34.1) Why was ‘Project Tiger’ considered a significant step for Tiger
Conservation ? 1
(34.2) What role did India play in the global tiger population ? 1
(34.3) Mention any two major threats to the wildlife species.
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35.

36.

Frefeftaa @ =1 ufen 3t 37 F= feu e e o S fafae
W <ht W ferfereran

WA | ferat WTTd & ? SHeRT ST 39 &1 R H¥R tar § fo 3ma wmwnai <6t fma
p8 TE U & | 39 IR H ATUha TSHaH g1 2011 1 SHIOHT o6 kel & B
B & | 39 SHIVHET H @R A 1300 & SATET TEHT-3TET WINISTT bl 3701 HIGHTST < &9
T ESl U AT | 3 TS Bl S TgE@ WIS o H1 qgag H G T 7 | -
fora e & | Ve Tgegan % wie ot SHvET 121 gy e ot T | 3 E 22
WIS T AR Sfaer 6t smmedt st § w@n mn g 3R 3w s 3% ey
WIS g1 ST 8 | STeh! o1 TR-ITE(od W had 8 | |81 o [80e § WRd g

qvad: ey w7l fafagdr arem e 2 |

(35.1) 2011 3T 9T ! STUMT H FehaT WINT3TT < HITHTST < €9 H &S fehdT 7T ?
(35.2) SITOMHT RHTE § WTI3TT ol hdl THg Toharm 7T 2

(35.3) TSI 1 WA ! 3T 3G § A gH1 WIS fafaear § fha TR
TN ST B 2 ST HIfT |

frferfaa &ra w1 afeu 3R 35eh =t feu T e o I fotfen

gt 3R wfewy
gfod 316g 61 dTehd T SIS ThER THR GRT I5eh! G T <ht hifdren & firerar
2 | 3Nuftafirs yeme ghen YRd | W g8 aam feRarel TR uH-ufeRtatl W sk
TEAT AT 3R I8 ! FARA St 3 72 9gd | s dTia hidr T |
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35. Read the following extract and answer the questions that follow : 4
Linguistic diversity of India

How many languages do we have in India ? The answer depends on
how one counts it. The latest information that we have is from the Census
of India held in 2011. This census recorded more than 1300 distinct
languages which people mentioned as their mother tongues. These
languages were grouped together under some major languages. For
example, languages like Bhojpuri, @ Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani and many others were grouped together under
‘Hindi’. Even after this grouping, the Census found 121 major languages.
Of these, 22 languages are now included in the Eighth Schedule of the
Indian Constitution and are therefore called ‘Scheduled Languages’.
Others are called ‘Non-Scheduled Languages’. In terms of languages,

India is perhaps the most diverse country in the world.

(35.1) How many languages were recorded as mother tongues in the

2011 Census of India ? 1
(35.2) How were the languages grouped together in the Census report ? 1

(35.3) How does the inclusion of languages in the Eighth Schedule of the

Indian Constitution contribute to linguistic diversity ? Explain. 2

36. Read the following source and answer the questions that follow : 4
Print and Censorship

The power of the printed word is most often seen in the way governments
seek to regulate and suppress print. The colonial government kept
continuous track of all books and newspapers published in India and

passed numerous laws to control the press.
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g fovagg & S, WA &1 fem o d8d, 22 IEERl i S ol uel off | 3 d
18 3 TEHM STCY HA <l ST Gg ! 6 L ST IFd a9z | Tore o 31efiA SR
v Afffa 9 1919 ¥ fafi= steewi o Raes atT 3nfe Sl o 3R o s41
fem | ot fovagg <t SEaTa W, W & Sttafem uritd fehem 7, arfh gg-aash
ot 61 SR Tk ST Ok | R BIST g ¥ Jt auTH W E % dgd HeR B!

off | 3TTEd 1942 W dehils 90 3TEERI h1 A fohdT TRIT |

(36.1) 3IUTETIH TRHR TRATT THER-TT W TR T o o0 1 afies soAmdt oft 2 1

(36.2) 3o TR I A I I HH ywTfed o 2 1
(36.3) TUER-UH W VeI lfd’ o THET T foweryor HifT | 2
LCLC (2+3=5)
(e e seaTia I9)

37. (a) Teu TTU vRa % qoifoe Er-aHes o 9 wIE A 3K B % 9 o guiv T § |
FrafaRaa Seerl <t TEraT 8 3 TEETY 37 39 e AT 3% qHIg Eil T8

e W fafau 2x1=2
() T8 TIH el S 4 FH e e | 1
(i) o8 T STET YA TP S =BT S 1920 H 53T | 1
(b) 9RA % THT ToHIfaeh WWT-FHE R feferfad § & feredl i =1 Suge fosi @
guiEd 3 3k I forfam 3x1=3
() T — S 1
(ii) TR — TTHTY] el T 1
(iil) STCE — TR SENfeh! ureh 1
(iv) TS — S SR e 1
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During the First World War, under the Defense of India Rules, 22
newspapers had to furnish securities. Of these, 18 shut down rather than
comply with government orders. The Sedition Committee Report under
Rowlatt in 1919 further strengthened controls that led to imposition of
penalties on various newspapers. At the outbreak of the Second World War,
the Defense of India Act was passed, allowing censoring of reports of
war-related topics. All reports about the Quit India Movement came

under its purview. In August 1942, about 90 newspapers were suppressed.

(36.1) What method did the colonial government employ to keep track of

Indian newspapers ? 1

(36.2) How did the colonial government’s laws affect the press ? 1

(36.3) Analyse the impact of ‘Sedition Committee’ on Newspapers. 2
SECTION - F (2+3=5)

(Map Skill Based Questions)

37. (a) Two places A and B have been marked on the given political outline
map of India. Identify them with the help of the following
information and write their correct names on the lines drawn near

them : 2x1=2
(1) The place where Gandhiji broke Salt Law. 1

(i1) The place where the Indian National Congress Session was held

in 1920. 1

(b) On the same political outline map of India, locate and label any

three of the following with suitable symbols : 3x1=3
(1) Salal-Dam

(11) Kalpakkam — Nuclear Power Plant 1
(i11) Bengaluru — Software Technology Park 1
(iv) Mormugao — Major Sea Port 1
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e : FrfcTRaa S e gresTiea SdETeR o foTg s @ 37 % TUM W3 |
forgf ot Al & S AR :

(37.1)
(37.2)
(37.3)
(37.4)
(37.5)
(37.6)

39 T 1 A ferRae srgt miefsht 7 THes e drer |

3 TAH 1 A feTRaT STET TR TER 10 1 SATEIH 1920 T g3 |
39 T o1 919 farfau st fegd st feua & |

38 T 1 T foaRau et seteens T St g e § |

39 U= o1 1 Torfau St&t argman agsl uaq feua 8 |

39 U= %1 A foerflau &t shepe T Senfieht ursh saferd g |
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Note: The following questions are for Visually Impaired Candidates

only in lieu of Q. No. 37. 5x1=5
Attempt any five questions :
(37.1) Name the place where Gandhiji broke Salt Law. 1
(37.2) Name the place where Indian National Congress Session was held
in 1920. 1
(37.3) Name the State where Tehri dam is located. 1
(37.4) Name the State where Kalpakkam Nuclear Power Plant is located. 1
(37.5) Name the State where Mormugao Sea Port is located. 1
(37.6) Name the State where Bengaluru Software Technology Park is
located. 1
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination March -2024
SUBJECT NAME: Social Science SUBJECT CODE 087 PAPER CODE 32/2/3

General Instructions: -

You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the
candidates, education system and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could
lead to derailment of the examination system and affect the life and future of millions of candidates.
Sharing this policy/document to anyone, publishing in any magazine and printing in News
Paper/Website etc may invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according
to one’s own interpretation or any other consideration. Marking Scheme should be strictly adhered to and
religiously followed. However, while evaluating, answers which are based on latest information or
knowledge and/or are innovative, they may be assessed for their correctness otherwise and due
marks be awarded to them. In class-X, while evaluating two competency-based questions, please try
to understand given answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own expression and
if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day,
to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If there is
any variation, the same should be zero after delibration and discussion. The remaining answer books meant
for evaluation shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark( v ) wherever answer is correct. For wrong answer CROSS ‘X” be marked. Evaluators
will not put right (v') while evaluating which gives an impression that answer is correct and no marks are
awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different
parts of the question should then be totaled up and written in the left-hand margin and encircled. This may be
followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This
may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) has
to be used. Please do not hesitate to award full marks if the answer deserves it.

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects (Details
are given in Spot Guidelines).

Ensure that you do not make the following common types of errors committed by the Examiner in the past:-
Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

e Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and
clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)




e  Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross
(X) and awarded zero (0)Marks.

14.

Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the Board.
Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

15.

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

16.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

17.

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the prescribed
processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again reminded that
they must ensure that evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.




Marking Scheme
Class X -Social Science (087)

SET-32/2/3
SET -3 MM-80
S.No. Values Points Page Marks-
No.
Section A (20X1=20)
Multiple Choice Question

1 (C) Assessment of Body Composition 13, E 1
2 (B)I-c, II-d, I1I-a, IV-b 64, E 1
3 (D)To support economic growth 42, E 1
4 (C)Unorganized Sector 31,E 1

For V.I. Candidate- (B)Multinational Corporations
5 (O)Tertiary Sector-Astronaut 21, E 1
6 (A)Rs.4,000 9 E 1
7 (B)7 7, E 1
8 (D)Odia 22, P 1
9 (C)Rule of people with freedom 1
10 (D)China 51,pP 1
11 (D)LII &III 4-5,P |1
12 (A)Union List Subjects- Communications 16-17, |1

(C)Concurrent List Subject-Adoption P

(Both options to be considered.)
13 (D)Secular 37, P 1
14 (C) I-¢, I-a, III-b, IV-d 34-35, |1

G

15 (D)Alluvial Soil 7, G 1
16 (A)Natural Gas 52, G 1
17 (B) Sudarshan Chakra Sachhi Kavitayen 126, H |1

(D) Kashi Baba-Chhote Bade Sawal

(Both options to be considered.)
18 (OIV,LI &II1 1
19 (A)Both (A) and (R) are true and (R) is the correct explanation of (A) 22, H 1




20 (C) Romanticist 14, H 1
Section B (4X2=8)
Very Short Answer Type Questions
21 Explain the impact of French Revolution on the other European | 5-6, H | 2X1=2
countries.
(i) The first clear expression of nationalism came with the
French Revolution in 1789. From the very beginning, the
French Revolution introduced various measures and
practices that could create a sense of collective identity.
(ii) The revolutionaries further declared that it was the mission
and destiny of French nation to liberate the people of Europe
from despotism, in other words to help other people of
Europe to become nations.
(iii)  When the news of the events in France reached the different
cities of Europe, Students and other members of educated
middle classes began setting up Jacobin clubs.
(iv)  The activities and campaigns of educated and inspired
middle classes prepared the way for the French armies which
moved into Holland, Belgium, Switzerland
etc. With the outbreak of the revolutionary wars, the French
armies began to carry the idea of nationalism abroad.
(v) Revolutionary  principles were incorporated in the
administrative field.
(vi) The Napoleonic code was exported to the regions under the
French control.
(vi) Any other relevant point to be considered.
Any two points to be explained
22 Why is power shared among different social groups? Explain. 9,P 2X1=2

Power may be shared among different groups such as the religious and

linguistic groups.

(i) This type of arrangement is meant to give space in the
government and administration to diverse social groups who
otherwise would feel alienated from the government.

(ii)  This method is used is used to give minority communities a fair
share in power.

(iii) There are constitutional and legal arrangements to give
representation to weaker section and women in the legislature
and administration.

(iv)  Power sharing reduces the chances of conflicts amongst different




\))

social groups.
Any other relevant point.

Any two points to be explained.

23 How can a nation achieve a balance between economic growth and the | 14-15, | 2X1=2
environment sustainability? Explain by giving any two arguments.

(1) Sustainable development is environment friendly economic
development which advocates for conserving resources for
future generations.

(i)  Development can be sustained in any economy by using
renewable resources such as hydel energy, wind energy and
solar energy.

(ii1))  Non-renewable resources are those which get exhausted after
years of use. We have a fixed stock of these on earth which
cannot be replenished. So their use should be reduced.

(iv)  Renewable resources are replenished by nature. However, even
these resources may be overused. For example, in case of
groundwater, if we use more than what is being replenished by
rain then we would be overusing these resources. So they also
should be used wisely.

(v) Use of public transport, conservation of resources, reducing,
recycling and reusing of resources.

(vi)  Any other relevant point.

Any two arguments to be explained.

24 (a) Differentiate between primitive subsistence and commercial | 30-31, | 2X1=2
farming.

Primitive subsistence G

(1) Primitive subsistence agriculture is practiced on small
patches of land with the help of primitive tools like hoe, dao
and digging sticks and family/ community labour.

(i1) This type of farming depends upon monsoons, natural
fertility of the soil and suitability of other environmental
conditions to the crops grown.

(111) It is ‘slash and burn’ agriculture. Farmers clear a patch of
land and produce crops. When soil fertility decreases, the
farmers shift and clear a fresh patch of land for cultivation.

(iv) Crops are produced to sustain the family.

(v) It is labour intensive farming, since most of the activities are
done by human labour.

(vi) Land fertility is low as fertilizers are not used.

(vii) This type of shifting allows nature to replenish the fertility of
soil through natural process.

Commercial Farming

(1) In this type of farming higher dose of modern inputs is used.

(i1) High Yielding Variety (HYV) seeds, chemical fertilizers,

(iii)

insecticides and pesticides etc. are used
obtain higher productivity.
The degree of commercialization of agriculture varies from




(iv)
v)

(vi)
(vii)

(viii)

one region to another. For example, rice is a commercial
crop in Haryana and Punjab

and it is a subsistence crop in Odisha.

Commercial farming is done with the view to sell the crops
and gain profit.

It is capital intensive since it depends on machines to get the
work done.

Land productivity is high.

Does not allow nature to replenish the soil fertility through
natural process.

Any other relevant points.

Any two points to be differentiated.

OR

(b) Differentiate between Rabi and kharif cropping sessions.

Rabi Crops

(1)

(ii)

(iii)

(iv)

Rabi crops are sown in winter from October to December and
harvested in summer from April to June.

Some of the important rabi crops are wheat, barley, peas, gram
and mustard.

Punjab, Haryana, Himachal Pradesh, Jammu and Kashmir,
Uttarakhand and Uttar Pradesh are important for the production
of rabi crops.

Require warm climate for germination and cold climate to grow.
Availability of precipitation during winter months due to the

western temperate cyclones help in the success of these crops.

Kharif Crops

(1)

(ii)

(iii)

(iv)

Kharif crops are grown with the onset of monsoon in different
parts of the country and these are harvested in September-
October.

Important crops grown during this season are paddy, maize,
jowar, bajra, tur (arhar), moong, urad, cotton, groundnut and
soyabean.

Some of the important rice growing regions are Assam, west
Bengal, coastal regions of Odisha, Andhra Pradesh, Telangana,
Tamil Nadu, Kerala and Maharashtra, particularly the Konkan
coast with Uttar Pradesh and Bihar.

Kharif crops require hot weather and good rainfall.

32, G




V) Any other relevant point.

Any two points to be differentiated.

Section C (5X3=15)
Short Answer Type Questions
25 (a) How was the silk route an example of vibrant pre- modern trade? | 54, H 3X1=3
Explain.
(1) There were several silk routes over land and sea, knitting together vast
regions of Asia with Europe and Northern Africa.
(i1) West bound Chinese silk cargoes passed through these routes.
(ii)Chinese pottery, textiles and spices from India and Southeast Asia
travelled the silk routes.
(iv)In return, Precious metals-gold and silver-flowed from Europe to Asia.
(v)Any other relevant point.
Any three points to be explained.
OR
(b) How did food promote long distance cultural contacts in the 3X1=3
pre- modern world? Explain.
(1) Traders and travelers introduced new foods/crops to the lands
they travelled.
(i1) Noodles travelled from China to western countries to become
spaghetti.
(i11))  Arab traders took pasta to Sicily (now parts of Italy)
(iv)  Potatoes, tomatoes, soya, groundnuts, maize, chillies, sweet
potatoes etc. were introduced in Europe and Asia after discovery
of the Americas.
(v) Many of our common foods came from America’s original
inhabitants-the American Indians.
(vi)  Any other relevant point.
Any three points to be explained.
26 How can fresh water be saved from the industrial pollution? Suggest | 66, G 3X1=3

any three ways.
(i) Minimising the use of water for processing by recycling and reusing

it in two or more successive stages.

(i) Harvesting of rainwater to meet water requirement in industries.

(iii) Reducing or eliminating the dangerous materials used in the
production process.

(iv) Reducing the waste produced so that the wastewater will have
lesser contaminants.




(v) Treating hot water and effluents before releasing them in rivers and
ponds. Treatment of industrial effluents can be done in three phases-

(a) Primary treatment by mechanical means. This involves

screening, grinding, flocculation and sedimentation.

(b) Secondary treatment by biological, chemical and physical

processes. This involves recycling of wastewater.

(vi) Any other relevant point.

Any three points to be explained.

27 “Tertiary sector has a pivotal role in the economy of the country”. | 24-26, | 3X1=3
Support your answer with day-to-day examples. E
(1) Tertiary sector is the third category of activities after primary

and secondary sectors.

(i1) The activities of tertiary sector help in the development of the
primary and tertiary sector.

(ii1))  These activities by themselves do not produce a good but they
are an aid or a support for the production process.

(iv)  Tertiary sector provides services like transport, banking,
communication, storage, trade etc.

(v) Since these activities generate services rather than goods, the
tertiary sector is also called service sector. It includes some
essential services that may not directly help in production of
goods. For traders and doctors etc.

(vi)  Tertiary sector provides employment to a large number of
people.

(vii)  The share of tertiary sector in GDP is the highest in our country.

(viii)) Tertiary sector also helps in bringing the much required foreign
reserves.

(ix)  Any other relevant point.

Any three examples to be explained.

28 Explain any three responsibilities carried out by the political parties in | 48-49, | 3X1=3
a democracy. P

(1) Political Parties contest elections.

(i1) Parties put forward different policies and programmes and the
voters choose from them.

(i11))  Parties play a decisive role in making laws for a country.

(iv)  Parties form and run the government.

(v) Parties recruit and train the leaders.

(vi)  Parties play the role of opposition.

(vii)  Parties shape public opinion.

(viii) Parties provide people access to government machinery and
welfare schemes implemented by governments.

(ix)  Any other relevant point.

Any three points to be explained.




29 What efforts are being made by the government to increase | 28-29, | 3X1=3
employment in urban areas? Explain. E
3
(i) People can be employed in projects like construction and
infrastructure.
(ii) Government invests and employs people in providing
transportation and storage services.
(iii) Government is developing education sector which employs a
large number of people. As per the study by NITI Aayog nearly
20 lakh jobs can be created in the education sector alone.
(iv)  Development of banking and trade services increases
employment opportunities.
) Promotion of sectors like tourism, regional craft and IT provides
job opportunities.
(vi) By improving the health situation, more doctors, nurses and
health workers are employed.
(vii)  Any other relevant point.
Any three points to be explained.
Section D (4X5=20)
Long Answer Type Questions
30 (a) The Gandhian idea of Satyagraha emphasize the power of truth | 31, H 5X1=5

and struggle against injustice. Explain the statement with

e€xa

(1)
(ii)

mple.
The idea of satyagraha highlighted the power of truth and the
need to search for the truth.
Satyagraha was a novel method of mass agitation,

(i) It stressed the principle of truth, tolerance, non-violence and

(iv)

(V)
(vi)

(vii

(vii

(ix)
(x)

peaceful protests.

Satyagraha according to Gandhiji is not physical force but
requires intense activity.

The idea was to resist injustice without use of force.

Gandhiji made people aware of their rights and encouraged
them to fight for them without using violence.

) He organized Satyagrahas against oppressive plantation
system in Champaran.

1) Organised satyagraha to help people in Kheda adversely
affected by crop failure who were demanding relaxation of
revenue collection.

Organised satyagraha movement to help cotton mill workers
in Ahmedabad.

Later, he extended the practice of satyagraha in all major
movements like Rowlatt Satyagraha, Non-Cooperation
Movement, Civil Disobedience Movement and Quit India
Movement.




(xi)

Any other relevant point.

Any five points to be explained.

(b) How did people belonging to different communities, regions and
language group developer science of collective belonging in the

OR

late 19th century India? Explain with examples.

(@)

(i)

(iii)

(iv)

™)

(vi)

(vii)

(vii)

(ix)

)

With the growth of nationalism the identity of India was
associated with the image of Bharat Mata.

The image was first created by Bankim Chandra
Chattopadhyay. In the 1870s he wrote ‘Vande Mataram’ as
a hymn to the motherland. Later it was included in his
novel Anandmath and widely sung during the Swadeshi
movement in Bengal.

During Swadeshi movement, Abanindranath Tagore
painted his famous image of Bharat Mata. In this painting
Bharat Mata is portrayed as an ascetic figure; she is calm,
composed, divine and spiritual.

Ideas of nationalism also developed through a movement to
revive Indian folklore.

In late-nineteenth-century India, nationalists like Rabindra
Nath Tagore and Natesa Sastri began recording folk tales
sung by bards and they toured villages to gather folk songs
and legends.

It was essential to preserve this folk tradition in order to
discover one’s national identity and restore a sense of pride
in one’s past.

During the Swadeshi movement in Bengal, a tricolour flag
was designed. It had eight lotuses representing eight
provinces of British India, and a crescent moon,
representing Hindus and Muslims.

Gandhiji designed a Swaraj flag. It was a tricolour flag with
a spinning wheel in the centre.

Another means of creating a feeling of nationalism was
through reinterpretation of History. By the end of the
nineteenth century, many Indians began feeling, that to
instil a sense of pride in the nation; Indian history had to be
thought about differently and began looking into the past to
discover India’s great achievement.

Any other relevant point.

Any five points to be explained.

47-48,

31

(a) “Solar energy has a bright future in India.” Explain the statement

54 G

5X1=5




with examples.
(i) India is a tropical country. So it has enormous possibilities of

tapping solar energy.
(ii) Photovoltaic technology converts sunlight directly into electricity.
(iii) Solar energy is fast becoming popular in rural and remote areas.
(iv) Some big solar power plants are being established in different parts
of India which will minimise the dependence of rural households on
firewood and dung cakes.
(v) It contributes to environmental conservation and adequate supply of
manure in agriculture.
(vi) Any other relevant point.
Any five points to be explained.

OR
(b) Why do we need to conserve mineral resources? Explain with
examples.
(i) Our industry and agriculture are dependent upon mineral deposits

and the substances manufactured from them.

(ii) The total volume of workable mineral deposits is very low.

(iii) We are rapidly consuming mineral resources that required millions
of years to be created and concentrated.

(iv) Mineral resources are finite and non-renewable.

(v) Continued extraction of ores leads to increasing costs as mineral
extraction comes from greater depths along with decrease in quality.

(vi) Any other relevant point.

Any five points to be explained.

49 G
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(a) ‘Dignity and freedom of people are the basis of democracy’. Explain
the statement. 5

(i) The passion for dignity and freedom are the basis of democracy.

(ii) Democracies throughout the world have recognised the principle of

respect and freedom and it has been achieved in various degrees in
various democracies.

(iii)Discrimination on the basis of gender, religion etc. is not acceptable
legally.

(iv) The principle of equality is recognised by government.

(v) Equal rights and equality before law enhances dignity of citizens.

(vi)Freedom of speech and expression and various other rights provided
by constitution under democratic regimes transform people from the
status of subject into citizen.

(vii) Democratic governments try to provide basic facilities and
employment opportunities to the citizens

(viii) Any other relevant point.
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Any five points to be explained.

OR
(b) ‘Democracy is related with deep values.” Explain the statement.

Democracy appeals to some of our deep values.

(i) Debate about deep values of democracy cannot be resolvedina | 48 P
simple manner.
(ii) Some debates about democracy can and should be resolved by
referring to some facts and figures. The debate about economic
outcomes of democracy is one of them.
(iii)  Leaders are elected by people, so people participate in policy
making through their representatives.
(iv)  Public debates on major policies
) Regular free and fair elections. (sharing of power with those
affected by its exercise)
(vi)  Attends the needs and demands of people.
(vi)  Recognising and respecting various social divisions and
producing a harmonious social life.
(viii) By providing various rights promotes dignity and freedom of
individual.
(ix)  Any other relevant points.
Any five points to be explained.
33 (a) Rapid improvement in technology has been one major factor that 62-63, | 5X1=5
has stimulated the globalisation process. Explain the statement with E

examples.
i.  Rapid improvement in technology has been one major factor that
has stimulated the globalisation process.

il. For instance, the past fifty years have seen several improvements in
transportation technology.

iii.  This has made much faster delivery of goods across long distances
possible at lower costs.

iv.  Even more remarkable have been the developments in information

and communication technology. In recent times, technology in the
areas of telecommunications, computers, Internet has been changing

rapidly.

v.  Telecommunication facilities (telegraph, telephone including
mobile phones, fax) are used to contact one another around the
world.

vi.  Any other relevant point.
Any five points to be explained.
OR

(b) Foreign trade and foreign investment policies are the aspects of
liberalization and globalisation. Explain the statement with examples.




Foreign Trade and Foreign investment are main channels of connecting 56-61,
countries. E
(1) Foreign Trade creates opportunities for producers to reach
beyond domestic markets and invest outside for better returns.
(i1) Gives consumers more choices at less cost across the countries.
(iii))  Liberal policies of government i.e. removing barriers on imports
and exports facilitate foreign trade and foreign investment.
(iv)  Liberalisation leads to expansion of foreign trade resulting in
connecting of markets of various countries.
(v) Multinational Corporations expand their production and invest
capital in various countries and produce the goods globally.
(vi) For operating smoothly they need favourable government
policies(libaralisation).
(vil)  Any other relevant point.
Any five points to be explained
Section E 3X4=12
CASE BASED QUESTIONS
(4X5=20)
34 Read the following source carefully and answer the questions that | 14, G 1+1+2=4

follow:

Project Tiger
Tiger is one of the key wildlife species in the faunal web. In 1973, the
authorities realized that the tiger population had dwindled to 1,827
from an estimated 55,000 at the turn of the 20" century. The major
threats to tiger population are numerous, such as poaching for trade,
shrinking habitat, depletion of prey base species, growing human
population, etc. The trade of tiger skins and the use of their bones in
traditional medicines, especially in the Asian countries left the tiger
population on the verge of extinction. Since India and Nepal provide
habitat to about two-thirds of the surviving tiger population in the
world, these two nations become prime targets for poaching and illegal

trading.




“Project Tiger”, one of the well published wildlife campaigns in the
world, was launched in 1973. Tiger conservation has been viewed not
only as an effort to save and endangered species but with equal
importance as a means of preserving biotypes of sizeable magnitude.
Corbett National Park in Uttarakhand, Sunderbans National Park in
West Bengal, Bandhavgarh National Park in Madhya Pradesh, Sariska
Wildlife Sanctuary in Rajasthan, Manas Tiger Reserve in Assam and
Periyar Tiger Reserve in Kerala are some examples of the tiger

reserves in India.

34.1 Why was ‘Project Tiger’ considered a significant step for Tiger
Conservation?
(1)’Project Tiger’ is an effort to save a single species on a large scale.
(i1)Project aimed to address the decline in tiger numbers caused by threats
like poaching, habitat loss, depletion of prey species and human
encroachment.
(ii1)Played vital role in safeguarding the tiger population while indirectly
protecting entire ecosystems.
(iv)Any other relevant point.

Any one point to be mentioned
34.2 What role did India play in the global tiger population?
(i) Wildlife Protection Act for protecting Habitat
(i1) Ban on hunting
(iii)Restriction on trade in wildlife

(iv)National Parks and Wildlife Santuary

(v)India and Nepal provide habitat to about two-third of the surviving tiger
population in the world.

(vi)Project Tiger was launched to protect tigers and their habitats.

(vii)There are 39 tiger reserves in India.

(viii)Any other relevant point.

Any one point to be mentioned

34.3 Mention any two major threats to the wildlife species. 2)

(i) Poaching for trade: Illegal hunting of tigers for their valuable skin and




bones used in traditional medicines.

(i) Habitat Loss: Human activities like deforestation, urban expansion and
agricultural activities etc.

(iii))Depletion of prey base species: Reduction in the number of animals
that tiger prey upon, resulting in food scarcity.

(iv)Any other relevant point.

Any two points to be mentioned.

35

Read the following source carefully and answer the questions
that follow:
Linguistic diversity of India

How many languages do we have in India? The answer depends on how
one counts it. The latest information that we have is from the Census of
India held in 2011. This census recorded more than 1300 distinct
languages were grouped together under some major languages. For
example, languages like Bhojouri, Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani and many others were grouped together
under ‘Hindi’, Even after this grouping, the Census found 121 major
languages. Of these, 22 languages are now included in the Eighth
Schedule’. Others are called ‘Non-Scheduled Languages,” In terms of

languages, India is perhaps the most diverse country in the world.

35.1 How many languages were recorded as mother tongues in the 2011
Census of India? 1)
The census of India recorded more than 1300 distinct languages as mother

tongues.

35.2 How were the languages grouped together in the Census report?(1)
The languages like Bhojpuri, Magadhi, Bundelkhandi, Chhattisgarhi,
Rajasthani were grouped under the category of “Hindi”.

35.3 How does the inclusion of languages in the Eighth Schedule of the
Indian Constitution contribute to linguistic diversity? Explain.(2)

(i) It recognizes their cultural and linguistic significance.

22, P
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(ii) It helps protect and promote these languages, ensuring that speakers
have access to education and government services in their native languages.
(iii)Most of these languages are also the official languages of their
respective states.

(iv)Any other relevant point.

Any two points to be mentioned

36

Read the following source carefully and answer the questions that

follow:

Print and Censorship

The power of the printed word is most often seen in the way governments
seek to regulate and suppress print. The colonial government kept
continuous track of all books and newspapers published in India and passed
numerous laws to control press.

During the First World War, under the Defense of India Rules, 22
newspapers had to furnish securities. Of these, 18 shut down rather than
comply with government orders. The Sedition Committee Report under
Rowlatt in 1919 further strengthened control that led to imposition of
penalties on various newspapers. At the outbreak of the Second World War,
the Defense of India Act was passed, allowing censoring of reports of war-
related topics. All reports about Quit India Movement came under its
purview. In August 1942, about 90 newspapers were suppressed.

36.1 What method did the colonial government employ to keep track of
Indian newspapers?

(1) Colonial Government passed Vernacular Press Act and other rules to control
the press.

(i1) Imposition of penalties.

(i11))Government kept regular track of the vernacular newspapers.

(iv)Censoring of reports of war related topics.

(v)Any other relevant point.

Any one point to be mentioned

36.2 How did the colonial government’s laws affect the press?

(i) During the First World War, under the Defence of India Rules 22
newspapers had to furnish securities and 18 of these shut down.

(i) There were strong protest by Indians.

(iii)Liberty of Press was lost.

1+1+2=4




(iv)Many people were imprisoned when they broke these laws.

(v)Any other relevant point.

Any one point to be mentioned.

36.3 Analyse the impact of ‘Sedition Committee’ on Newspapers. 2)
(1)When a report was judged as seditious, the newspaper was warned.

(i)If the warning was ignored, the press was liable to be seized and the
printing machinery to be confiscated.

(iii)Any other relevant point.

Section F (2+3=5)
Map Based Questions
37 (a) Two places A and B have been marked on the given political outline
map of India. Identify them with the help of the following
information and write correct names on the lines drawn near them:
(1) The place where Gandhiji broke Salt Law. 1
(i1) The place where the Indian National Congress Session was
held in 1920. 1
(b) On the same political outline map of India, locate and label any
three of the following with suitable symbols: 1x3=3
(1) Salal-Dam
(i1) Kalpakkam- Nuclear Power Plant
(i)  Bengaluru -Software Technology Park
(iv)  Mormugao-Major Sea Port
Note: The following questions are for Visually Impaired Candidates 1x5=5

only in lieu of Q. No. 37.

Attempt any five questions:

(37.1) Name the place where Gandhiji broke salt law.

Dandi

(37.2) Name the place where Indian National Congress Session was held
in 1920.

September-1920-Nagpur

December-1920-Kolkata (Calcutta)




(37.3) Name the State where Tehri dam is located.

Uttrakhand

(37.4) Name the State where Kalpakkam Nuclear Power Plant is
located.

Tamilnadu

(37.5) Name the State where Mormugao Sea Port is located.

Goa

(37.6) Name the State where Bengluru Software Technology Park is
located.

Karnataka
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